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· I think what is happening is that we parse the tokens for the entry state and when we get to handle the token for the function identifier (helloworld) we invoke the AST constructor for Literal, when in fact the constructor being invoked should be for Id. 

· What does it take to get the Id constructor invoked?

· It takes the right string of characters to be recognized by the tokenizer by regular expressions. If you get the right characters then the lexer is totally able to invoke the right constructor. 
· Bonus question: how are we going to implement string literals? 
more sophisticated regex that will differentiate them from ID regexes

From: 

· Entry helloworld

· Start

·    print 11161976

· End

you get: 

· $ ./cabg < 6helloworld.cabg

· State 0: shift to state 1

· State 1: read token ENTRY

· State 1: shift to state 3

· State 3: read token ID(helloworld)

· State 3: shift to state 6

· State 6: read token NEWLINE

· State 6: shift to state 7

· State 7: read token START

· State 7: shift to state 8

· State 8: read token NEWLINE

· State 8: shift to state 10

· State 10: read token ID(print)

· State 10: shift to state 11

· State 11: read token LITERAL(11161976)

· syntax error

· Discarding state 11

· Discarding state 10

· Discarding state 8

· Discarding state 7

· Discarding state 6

· Discarding state 3

· Discarding state 1

· No more states to discard

· Fatal error: exception Parsing.Parse_error

